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QUESTION 1

Your company has restructured its HR departments. As part of this change, you also need to re-organize compartments
within Oracle Cloud Infrastructure (OCI) to align them to the company\\'s new organizational structure. The following
change is required:

Compartment Team_x needs to be moved under a new parent compartment, Project_B

OCI Tenancy (root compartment) | OCI Tenancy (root compartment)

Project_A ‘ Project_B Project_A Project_B ‘

l w— -

-

Team_X [ Team_X

The tenancy has the following policies defined for compartments Project_A and Project_B: Policyl: Allow group G1 to
manage instance-family in compartment HR:Project_A Policy2: Allow group G2 to manage instance-family in
compartment HR:Project_B

Which two statements describe the impacts after the compartment Team_x is moved? (Choose two.)
A. Group G2 can now manage instance-families in compartment Project_B and compartment Team_X

B. Group G1 can now manage instance-families in compartment Project_A, compartment Project_B and compartment
Team_X

C. Group G1 can now manage instance-families in compartment Project_A but not in compartment Team_x
D. Group G2 can now manage instance-families in compartment Project_A but not in compartment Team_x

E. Group G2 can now manage instance-families in compartment Project_B, compartment Project_A and compartment
Team_X

Correct Answer: AC

QUESTION 2

You have recently joined a startup company and quickly find that nobody is tracking the amount of money spent on
Oracle Cloud Infrastructure (OCI). Seeing an opportunity to help save money you begin creating a solution to better
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track the cost of resources provisioned by each individual on the team.
Which option allows you to identify excessive spend across all resources in your tenancy? (Choose the best answer.)

A. Use the Python SDK to write a custom application that will monitor the Audit log. Look for CREATE events and
configure the application to send you an email each time a new resource is created.

B. Create a tag namespace named BILLING with a Tag Key named CostCenter. Tag each of your resources with this
Tag Key and the correct value.

C. Use the Events Service and create rules that will act when a new Object Storage bucket or Compute Instance has
been created. Have the rule email you each time one of these events occurs.

D. Create a budget for each compartment that will send a notification when monthly spend reaches a predefined
amount.

Correct Answer: D
Reference: https://blogs.oracle.com/cloud-infrastructure/how-to-get-control-of-your-spending-in-oracle

cloud-infrastructure

QUESTION 3

Which statement about Oracle Cloud Infrastructure paravirtualized block volume attachments is TRUE? (Choose the
best answer.)

A. Paravirtualized volumes may reduce the maximum IOPS performance for larger block volumes.
B. Paravirtualized is required to manage iSCSI configuration for virtual machine instances.
C. Paravirtualized volumes become immediately available on bare metal compute instances.

D. Paravirtualization utilizes the internal storage stack of compute instance OS and network hardware virtualization to
access block volumes.

Correct Answer: A

Reference: https://blogs.oracle.com/cloud-infrastructure/paravirtualized-block-volume-attachments-for-vms

QUESTION 4

You are working as a Cloud Operations Administrator for your company. They have different Oracle Cloud Infrastructure
(OCI) tenancies for development and production workloads. Each tenancy has resources in two regions — uk-london-1
and eu-frankfurt-1. You are asked to manage all resources and to automate all the tasks using OCI Command Line
Interface (CLI).

Which is the most efficient method to manage multiple environments using OCI CLI? (Choose the best answer.)

A. Use OCI CLI profiles to create multiple sets of credentials in your config file, and reference the appropriate profile at
runtime.

B. Create environment variables for the sets of credentials that align to each combination of tenancy, region, and

Latest 120-1067-21 Dumps | 120-1067-21 VCE Dumps | 120-1067-21 Braindumps 3/7


https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html

VCE & PDF https://www.passapply.com/1z0-1067-21.html
2024 Latest passapply 120-1067-21 PDF and VCE dumps Download

PassApply.com

environment.
C. Run oci setup config to create new credentials for each environment every time you want to access the environment.
D. Use different bash terminals for each environment.

Correct Answer: B

QUESTION 5
You set up a bastion host in your VCN to only allow your IP address (140.19.2.140) to establish SSH connections to
your Compute Instances that are deployed in a private subnet. The Compute Instances have an attached Network

Security Group with a Source Type: Network Security Group (NSG), Source NSG: NSG-050504. To secure the bastion
host, you added the following ingress rules to its Network Security Group:

Type: All TCP
Protocol: TCP
Port Range: 22
Scurce: 140.19.2.140/32

Type: All TCP
Protocol: TCP
Port Range: 22
Source: NSG-050504

However, after checking the bastion host logs, you discovered that there are IP addresses other than your own that can
access your bastion host.

What is the root cause of this issue? (Choose the best answer.)

A. The Security List allows access to all IP address which overrides the Network Security Group ingress rules.
B. All compute instances associated with NSG-050504 are also able to connect to the bastion host.

C. The port 22 provides unrestricted access to 140.19.2.140 and to other IP address.

D. A netmask of /32 allows all IP address in the 140.19.2.0 network, other than your IP 140.19.2.140

Correct Answer: B

QUESTION 6
You have a web application running on Oracle Cloud Infrastructure (OCI) that lets users log in with a username and

password. You notice that an attacker has tried to use SQL comment “--" to alter the database query, remove the
password check and log in as a user. You decide to prevent any future attacks.
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Which of the following OCI services or features would you choose to safeguard your application? (Choose the best
answer.)

A. Network Security Group

B. Data Safe

C. Web Application Framework (WAF)
D. Vault

Correct Answer: D

QUESTION 7

Your customer is running a set of compute instances inside a private subnet to manage their workloads on Oracle Cloud
Infrastructure (OCI) tenancy. You have set up auto scaling feature to provide consistent performance to their end users
during period of high demand.

Which step should be met for auto scaling to work? (Choose the best answer.)

A. OS Management Service agent (osms) must be installed on the instances.

B. Audit logs for the instances should be enabled.

C. Service gateway should be setup to allow instances to send metrics to monitoring service.

D. Monitoring for the instances should not be enabled.

Correct Answer: B

Reference: https://docs.oracle.com/en-us/iaas/Content/Compute/Tasks/autoscalinginstancepools.htm

QUESTION 8

You are using the Oracle Cloud Infrastructure Command Line Interface to launch a Linux virtual machine. You enter the
following command (with correct values for all parameters): The command fails.

ocli compute instance launch ——awvailability-domain
“g<availability domain name>” -t <tenancy id> -c <compartment id>
——shope “<shape name>” ——display—name “<instance_display namc>”
——image-id <image id> --ssh-authorized-keys-file
“<path_to_authorized keys file>" ——subnet-id <subnet id>

Which is NOT a valid parameter in this command? (Choose the best answer.)

A. -t

B. — —image-id

C. — —shape “andlt;shape_name>"
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E. — —subnet-id

Correct Answer: A

QUESTION 9

A subscriber of an Oracle Cloud Infrastructure (OCI) Notifications service topic complained about not receiving
messages from the service.

Which option can help you debug this issue? (Choose the best answer.)

A. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, the service drops the
message. Confirm that the subscriber is always online to receive messages to help debug the issue.

B. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, check the
NumberOfNotificationFailed metric through the OCI Monitoring service for failed messages. Copy these messages to an
OCI Object Storage bucket. Make sure the subscriber has the required credentials to access this bucket to help debug
the issue.

C. If OCI Naotifications service does not receive an acknowledgement from a subscription endpoint, the service tries to
redeliver messages for up to one day. Make sure that the subscriber is online at least once a day to help debug the
issue.

D. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, the service tries to
redeliver messages for up to two hours. Configure an alarm on the NumberOfNotificationFailed metric through the OCI
Monitoring service to help debug the issue.

Correct Answer: D

QUESTION 10

You have been asked to set up connectivity between a client\\'s on-premises network and Oracle Cloud
Infrastructure (OCI). The requirements are:

Low latency: The applications are financial and require low latency connectivity into OCI.

Consistency: The application isn\\'t tolerant of performance variation.

Performance: The communications link needs to support up to 1.25 Gbps.

Encryption: The communications link needs to encrypt any data in transit between the on-premises
network and OCI Virtual Cloud Network (VCN).

The client wants to implement the above with as low a cost as possible, while meeting all of the
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requirements. What should you suggest? (Choose the best answer.)

A. Provision FastConnect with a single private virtual circuit, and run an IPsec VPN tunnel over the top of this virtual
circuit.

B. Provision FastConnect with a single public virtual circuit.

C. Provision a site-to-site IPsec VPN between your on-premises network and your virtual cloud network (VCN) using
VPN Connect.

D. Provision FastConnect with a single private virtual circuit.

E. Provision FastConnect with a single public virtual circuit, and run an IPsec VPN tunnel over the top of this virtual
circuit.

Correct Answer: D

Reference: https://docs.oracle.com/en-us/iaas/Content/Network/Concepts/fastconnectoverview.htm
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